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Welfare costs of business fluctuations 
Gali, Gertler, López-Salido 
 
theory-based measure of the variations in 
aggregate economic efficiency:  
 
the gap between  
• the marginal product of labor and  
• households consumption/leisure tradeoff 

 
Use representative agent – no unemployment, only 
variation in hours. 
 
Neglect costs of efficient fluctuations 
Neglect costs of distortions of relative prices and 
wages (due to price and wage stickiness) 
 
Lucas(1987, 2003)  
• consider costs of variability in consumption, 

without taking source of fluctuation into 
account 

• show that these costs are small 
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Inefficiency gap   
gapt = mrst - mpnt 

 
 
Relate to markups in goods and labor markets 
wage-taking firms and no labor adjustment costs 
 
Price markup 

μp
t  = pt – (wt – mpnt) 

 = mpnt- (wt - pt) 
 
Wage markup 

μw
t  = (wt – pt) – mrst 

 
(difference between wage and marginal disutility 
of work, expressed in terms of consumption) 
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Boom:  
N and C are high => UNt high and UCt low  

=> MRSt high 
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Thus 
 

gapt = - { [mpnt- (wt - pt)] +  [(wt – pt) – mrst]} 
 
gapt = - (μp

t + μw
t ) 

 
In steady state 

 
gap = - (μp + μw ) < 0 
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Measurement 
Assume standard production function and utility 
function (constant elasticity of output with respect 
to hours)   Y = ANα 

 
 mpnt = yt - nt 
 
 mrst = σct +φnt - tξ    
 
( tξ  reflect changes in preferences) 
 
Thus: 

 gapt = mrst - mpnt = σct +φnt - tξ - (yt – nt) 
 

μp
t  = pt – (wt – mpnt)  = (yt – nt)- (wt – pt )  

= - st 
 
(st  is wage share or log of real unit labor cost) 
 
Baseline case: Assume  
φ = σ = 1  
Low-frequency changes in preferences tξ  
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Changes in wage markup dominate variation in 
efficiency gap 
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How to interpret?  
 
Changes in preferences ? 
 
No – show that one can reject test of no-Granger 
causality of detrended GDP, nominal interest rate 
and yield spread on gap measure (i.e. gap 
depends on these variables) 
 
I.e. changes not caused by change in preferences 
 
Furthermore, monetary policy shock also affects 
gap 
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Welfare costs 
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Discussion 
 
• representative agent, no unemployment 
• recession give increase utility of leisure 
• neglect other costs of unemployment 

o self confidence,  
o loss of human capital 
o social costs, etc 

• costs associated with wage and price 
fluctuations 

 
 

• Assume that deviations are symmetric 
• if downturns are more persistent , then the 

welfare loss would be much greater 
• neglect hysteresis 
 


